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��1�'� �� ��8�$.��� 0�/�� 1��& '# ��2#��%� ;� ��#���#- ;�# ��$�/ �'�# 2�0� �,
��� '#'��0� ��;�'�#0�0� 0 �/�'�%� $# �� �< 0���$��� � �/�'�%� $# �� �< 0���$��
3��0#����'.  � �' �%� ## '%��'�% <�������#'�#(�'�#< ;�$# �0�%! % (�'� �'�#  ��0�$&,
 �< ;�$# �0�%! #';�$&2�%�  �< ���� S����%�0 # �8� '����� #��0# �9�! � ��� /� ��'$�,
 �0 �5�� ��1�'� �'�& ;� �� ��� #- � #20� � #- ;��.��� ��''0���� � % �t��

�# �� �. '��4#� �� �. '#'��0� ' �� #0 %<���0 # �� #0 %�<���0 #0��� %#�

ẋ = Ax+Bu, A9B

8�� x ∈ Rn! A ∈ Rn×n! u 6 '��$.� �� �;��%$� #�! #

A =
[

0 I
−a1 −a2 −a3 . . . −an

]
, B =

⎡⎣ 0
. . .
b

⎤⎦ .
C$�0� �� ai, (i = 1, . . . , n) 0���#4� A #20� .-�'. % #2%�'� �< ;����$�<

ai ∈ [a0i, a0i +�ai] , �ai ≥ 0.

��;�'�#0�� 0 �/�'�%� $# �� �< 0���$�� #0��� %#�

ẋ = AMx. A5B

���'&

A =
[

0 I
−d1 −d2 −d3 . . . −dn

]
,

# <�������#'�#(�'�#� ;�$# �0

N(s) = sn + dns
n−1 + · · ·+ d2s+ d1 AtB

��/��� ����� 0���$# ��$/� ���%$��%��.�& �'$�%#.0

κi =
d 2
i

di−1di+1
∈ [κ, κ ] , ω0 =

d1

d2
∈ [ω, ω ] . A)B

�#/ .. (���� �2 �(���  #/ #�! � %��< .. (���� 6 %��< #� ;����$� '���%��'�%�-,
?#< %�$#(# � S���0���� κi  �2�%�-�'. ���33#4#� ��0# 2���<� #.! � ω0 6 <�������#'�#,
(�'��. (�'����� C�# �%� ;���0���� '$�/�� ;���2���$.0# ��(�'�%� '# ��2#���0�� '#'��,
0�� � (�'� �'�#! ;�$# �0 AtB 0�/�� 1��&  ��0�$& �0 ;�$# �0�0 �9! 5�� � ���0 '$�(��
κi = κ0 = const! #! '$���%���$& �! ���33#4#� �� ;�$# �0� %���/�-�'. (���2 <�������#,
'�#(�'��- (�'����

di = κ
f(i)
0 ωn−i+1

0 . AuB

���'&

f(i) =
n(n− 1)

2
− (i− 2)(i − 1)

2
.

���1<��#0�  ���# 2��� �;��%$� #. % 3��0� u = −Kx! �����! (��1� ;�$# �0 2�0� �,
��� '#'��0� ;�# ��$�/�$ 0 �/�'�%�! �;����$.�0�0� %���/� #.0# AtB! A)B % �'$�%#.< #2,
0� � #� ;���0����% �1������ �$����� ��0��#�&! (�� ;�'��%$�  �. 2���(�  � %'�8�� #0���
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���� #�! � $#�& �$. ��'����( � �#���#< ;����$�% A)B ;�# 2���  �< #20� � #.< ;���0��,
��%�

S���;�$�/#0! (�� �$.  �0# �$& �< ;���0����% a0i, (i = 1, . . . , n) �1����� �1��� ��
'%.2# K �1�';�(#%�-�  ��0�$& �� <�������#'�#(�'�#� ;�$# �0 AtB 2�0� ���� '#'��0�!
'$���%���$& � di = a0i + bki, (i = 1, . . . , n)� S�# ;��#2%�$& �< ���$� � #.< ;���0����% ��
��'(�� �< ;�$# �0 ;�#0�� %#�

N(s) = sn + (dn +�an)sn−1 + · · ·+ (d2 +�a2)s+ d1 +�a1. AyB

�1�2 �(#0 �� �'#��$& �� #20� � #. ;���0����% γi = �ai/di� ��8�� �$. ;���2���$��
2���<� #. # <�������#'�#(�'��� (�'���� ;�$# �0� AyB ;�$�(�-�'. %���/� #.�

κi =
(di +�ai)2

(di−1 +�ai−1)(di+1 +�ai+1)
= κ0

(1 + γi)2

(1 + γi−1)(1 + γi+1)
, ω =

d1 +�a1

d2 +�a2
= ω0

1 + γ1

1 + γ2
. A:B

�(�%#� �! (�� <�������#'�#(�'��. (�'���� 0�/�� #20� .�&'. % ;����$�<

ω0 ≤ ω0/(1 + γ2) ≤ ω ≤ ω0(1 + γ1) ≤ ω0. A7B

�1�2 �(#0 ε = max
i
γi� 	2 A:B ;�$�(#0

κ ≤ κ0/(1 + ε)2 ≤ κi ≤ κ0(1 + ε)2 ≤ κ. A*B

	2 A*B 0�/ � �;����$#�& ��;�'�#0�� �$. ε %��< #� ;����$

ε ≤ min(
√
κ0/κ− 1,

√
κ/κ0 − 1). A9+B

�$. %�;�$ � #. ���8� �'$�%#. di, (i = 1, . . . , n) ��$/ � 1��&  �#1�$&�#0# ��;�'�#,
0�0#! (��! ��� '$����� #2 AuB! ���1���  �#1�$&��8� 2 �(� #. ω0! �;����$.�0�8� #2 A7B ;�
%���/� #-

ω0(1 + γ1) = ω0.

��8�� �$. di, (i = 1, . . . , n) ' �(���0 AuB ;�$�(#0

di = (κf(i))ω(n−i+1)
0 (1 + γ1)−(n−i+1)).

� �(� #� ε 1���� ��% �

ε = max
i

(γi/di) = max
i

(γiκ−f(i))ω−(n−i+1)
0 (1 + γ1)n−i+1). A99B

�'$# ;�$�(�  �� 2 �(� #� ���%$��%��.�� �'$�%#- A9+B! 2���(� ��1�'� �8� '# ��2� ��2,
���#0�! � ;���0���� ki ��8�$.����  ����� � �;����$#�& ;�  �0# �$& �0 ;���0����0
�1����� # 2 �(� #.0 di, (i = 1, . . . , n)�

� ;���#% �0 '$�(��  ��1<��#0� #20� #�& ;�'�� �%�� 2���(#�
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